EARAROBEEIERT — 2 N— IBISH —F

201957H228 (B) 5EIIIE3H

Bl >528 4 257%%

‘ (] 8 ‘ [EmmEl  — | 4 () 14000 B

[A~&£] 1 7% :1,500,000  ~ 23 :570,000 @ 37 :375,000 ™

4 7% 225,000 @ 53 :180,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N HTHE :36. -1-1- . — lisEsE (1)
1lglg|TV—ra o2 54_0|_a=ﬁ 1(3_6)1 1-1-1-1 | 43.1 2 (4;4) /w;r? o
R:IAY>75yva B:JU—LNAF IR
= = i o2 | HIE 1:36.4 2-2-2-2 |43.2| — 7 | 440 |ERE— (&)
21717 ILT14F%7) 54.0 (1 1/2) (-5) (¥) PARI4RS
LXK a7 BXvXS—-KT-—4 HETF—L
. o I8 . —3-4- — 12 ARAZ (J1115)
3 4| 7EVET P - it 2 e 1.(337).0 3-3-4-3 | 43.5 1 ::376) o
LNy vy HF—Ib B:ary—rTr—> CIVE AR
o s 2 | HEER 1:37.4 5-6-5-5 |43.2| — 3 407 | FEHE— (1)
4l8lg|BTRAT1—=7 54.0 ) (a) | EERE
RitA 7 VLR B:5TXwST9— WA {517
K 4t 2 | BHB 1:37.6 8-7-7-6 | 42.4| — 6 497 | AAAZ (1)
EH 6| ¥—FL L 54.0 ) (1) |ImAIE
R:AX—b77)0> B:OUHLT—L REE HEA
© [iE] B AR :38. =f=1= . — hnEES— (1)
6l1li|vram—n o2 P 1284 7-7-7-1 | 43.2 4 (4_017) L
ZoXR kA7 B:UzTFc U KLZR e BE
R (RRERA . an_ _ BEH— ()
7155 | KAy TINY i 2 S 1.(339).1 4-3-3-4 | 45.6 5 :?; i
S AV N - 3 v G N NP 4 Nt &EE
9 LS : -9-0- — hnEEss— (1)
8 3| LA TE—1 o2 A2 1.(460).3 9-9-9-9 | 44.7 9 (3_911) JIBE =
LXK kOT B:TLTYYT i3l e
S 2 | EEFXE 1:42.4 6-56-8 | 48.3| — 8 409 | i@ (1)
9 o | TU—=FK=%v b # 54.0 (21%) -3) BIER
L:ZX=N=FK=—2y b B:XE2—7—F H=—ANFIX—7X42Y K
® I—F—@EBIERL
13—7F— 9,7,4,5,8,2,1,6,3
20—F— 9,7,(4,5),2,8,(1,6),3
33—7F— |[9,7,5,4,8,2,(1,6).3
41—F— 9,7,4,5,8,6,1,2,3
[ RN
B 9 600 794K 7-9 1,080M & 7-8 3,090 &R 4-7-9 1,650
# B 9 140 4-9 160M B 8-7 3,190M EE 9-7-4 19,890
7 370 4-7 560M B = 7-9 6,410M
4 110/ B H 9-7 10,820M

ABICOVWTRDTEEERROODE. TR LIV,




